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| History Ch-3 Ruling the Countryside

| Choose the correct option:
Q1.Under the Permanent Settlement, revenue collection was assigned to:
&l a) Ryots b) Zamindars
| c) British officials d) Peasants

Q2.The Ryotwari System was mainly introduced in:
A\l a) Bengal b) Bombay and Madras Presidencies
| ¢) Punjab d) Assam

Q3. Describe the differences between the Permanent Settlement, Ryotwari System, and Mahalwari
System.
Q4. How did the British benefit from the revenue system?

| Q5. Choose the correct option:
Assertion (A): The British introduced the Permanent Settlement to ensure a regular revenue source.
Reason (R): Zamindars were made owners of the land and were responsible for collecting taxes.
a)Both Assertion (A) and Reason (R) are true, and R is the correct explanation of A.

| b) Both A and R are true, but R is not the correct explanation of A.

] c) Ais true but R is false.

d)A is false but R is true.

| Civics, Ch-4 Judiciary
Q1.Read the extract and answer the questions that follow:
Ravi was wrongly accused of theft in his neighbourhood. He was arrested by the police without any
| warrant and was kept in custody for 5 days before being presented in court. In court, he was not provided
.1 a lawyer by the state, and the judge passed a judgment without hearing his side.

(a)Mention two rights that were violated in Ravi’s case.

(b)Why is the judiciary expected to be impartial?




Q2.Choose the correct option:

y The judiciary in India is:

| a) Biased b) Controlled by the President

'. ¢) Independent d) Influenced by the police

.| Q3.A person can appeal to the High Court if:

a) He is guilty b) He disagrees with the lower court’s judgment
y ¢) He wants to complain about a teacher d) He wants a job

Q4.What is the role of the police in the criminal justice system?

H Q5.What is the difference between civil and criminal cases?

1 Geography, Ch-2 Land, Soil, Water, Natural Vegetation and Wildlife Resources
Q1. Read the extract and answer the questions that follows:

y Land is among the most important natural resources. It covers only about thirty per cent of the total area
| of the earth’s surface and all parts of this small percentage are not habitable. The uneven distribution of
population in different parts of the world is mainly due to varied characteristics of land and climate.

r '_'l (a)Why is land considered one of the most important natural resources?

| (b)What percentage of the Earth's surface is covered by land, and is all of it habitable?
(c)What are the main reasons for the uneven distribution of population across the world?
Y Q2 Choose the correct option:

Assertion (A): Soil erosion is a serious problem in many parts of the world.

1 Reason (R): It is caused mainly due to deforestation, overgrazing, and improper farming methods.

| a)Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

y C)A is true but R is false.

"f‘ ) d)A is false but R is true.

N . Q3.Assertion (A): Plains are densely populated regions.

% Reason (R): Plains have flat land and fertile soil, which make them ideal for agriculture and settlement.

| a)Both A and R are true, and R is the correct explanation of A.
¥ b) Both A and R are true, but R is not the correct explanation of A.

| c)A 1S true but Ris false




d)A is false but R is true.

Q4. What are the major threats to soil as a resource?

Q5. What is the role of community participation in conserving forests and wildlife?




